1seki tractor

TR NG .
J—f(J_/_LO cabin

technical training

iseki TK546
cabin




TK546 technical training

CABIN
disassembling /assembling manual
page
preparetion 1
air conditioner 1-4
engine room 5~9
cabin (inside of the room) 10~15
cabin (outside ) 16~19
CABIN hanging 20
TK546

cabin




1855

MAINTENANCE

E < i L
M S i )
< N JJC r*i =
e = |
\O ». mm"i
S
N
-

CLUTCH



to disassembe the cabin

1 preparetion
eto use the ceiling crane (or fork 1ift .or jack)
and prepare the rigid

eneed 0il return operation (over 20 min )
to return the air con oil to the compressor

2 air conditioner
eremove the side cover (LH side and RH side )

sidecover
LH

sidecover
RH

TK546 PAGE 1
cabin




eremove the grille
disconnect the harness
coupler of the Tight

disconnect the couple
of the Tight

eremove the hood
2-bolts LH & RH side
remove the washer
hose.

release the harness
from clip.

eto collect the gas
note

not release the gas
to the atmosphere.
keep the gap from
the piping.

gauge manifold

gas : ‘ . ) b kL
collector : = — SN

e il -
& e =

' \ ’;': -
i N -
HFC1ad\cre12 » \‘i- . P
W’iﬂj 3 568 ' '-S_'*& ﬂ

TK546 PAGE 2
cabin




edisconnect the
cooler hoses.

(high and low pressp
note
seal the piping not
to inter the dust.

cooler hose
(high pressure
side)

Teft side of the
radiator

cooler hose
(low pressure side)

right side of th
ebgine

TK546 PAGE 3
cabin




eopen the radiator '
drain to let the
coolant go out.
note

edisconnect the
heater hoses.

heater
hose

RH side

heater

LH side

TK546 PAGE 4
cabin




3 ENGINE
eengine room

disconnect the negative
terminalof the battery

SUPER
YUMIDHO”
I Arr )

tamma P

eremove the engineho
retaining frame
from cabin
M8 BOLTS x2

retaining
frame

TK546 PAGE 5
cabin




eremove the retaining
bracket RH and LH

of the rear of the
side cover

engine rear
plate
retaining
bracket
for side
cover

engine rear
plate

retaining
bracket

for side
cover

s

_\u"
3 d A\ =
Y "

>

<

TK546 PAGE 6
cabin




edisconnect the wire
harness coupler

fuse box
relay

eremove the fixing | = Fﬁ;
bolt from the universal =
joint of the steeringwhe

shaft O mam——
M8 BOLT f1x1ng -
bolt
steering
shaft

TK546 PAGE 7
cabin




edisconnect the engin
revolution cable

from the engine f;

g - TS a

engine e G =il =

revolution < m

cable e
air-con

belt

[j fan belt

edisconnect the two acceletor cables
from the engine.

disconne
cting
point

acceletor
cable

TK546 PAGE 8
cabin




4 nside the cabin
eremove the instrument panel
4-M6 SCREW

edisconnect the harness
connector
and engine revolutio

cable instrument ge—"
panel _ Y g

panel
connector

edetach the instrument boaf
and cover

edetach the column cover
4-M8 SCREW

EZOLUMN COVER

TK546 PAGE 10
cabin




edisconnect the two fuel hoses.

(drain fuel ahead of time through the
drain of the fuel tank,or plug the fuel
hose to prevent fuel from spilling.)

return hose

TK546
cabin

PAGE 9




eremove the steering shaft to the inside
of the room. .
M8 BOLT

[:éteering shaft

epull off the pin from the clutch and

brake rods at the dash pane1
\ _4’!‘%£T .
ik [ x 5
S

brake LHside

[: clutch

panel dash

[:brake Rhside

TK546 PAGE 11
cabin




eremove the slow-return knob.
M6 SCREW
remove the screw and pull
the knob.
slow-return
knob

lever. ‘

eremove the pto shift leve

pto shift
Tever

TK546 PAGE 12
cabin




eremove the main shift lever and range
shift lever.
M8 fix (lever fixing )

[:1ever boot

[:range Tever

[ main lever

[:jever boot

TK546 PAGE 13
cabin




edetach the Teft -hand lever guide.

LH side
lever guide

r_connectoe

edisconnect the 4wd rod at the end of
L shape-rod inside the lever guide.
or side of the transmission.

[j_ 4wd rod

TK546 PAGE 14
cabin




edisconnect the right-hand lever guide.
each Tever also should be removed.

RH side
lever guide

[:_connector

TK546 PAGE 15
cabin




S outside the cabin
eremove the rear wheels

cover
(domestic

type)

cover
(domestic
type)

TK546 PAGE 16
cabin




eremove the difflock pedal.
2-M10 BOLTS

[ diff-Tock pedal
[: arm

edetach the reverse cable
from the shift arm.

[ reverse cable

TK546 PAGE 17
cable




edisconnect the all harnesg
couplers which are connecte
between cabin and mission.

connector
domestic

type

connectoe
domestic

type

edisconnect the parking brake rod under
the floor. a

parking brake
Tever

TK546 PAGE 18
cabin




eremove the four nuts at the cabin mount.

rear mount LH

; [::_rear mount RH side
side

TK546 PAGE 19
cabin




note

6 11fting up the cabin
elifting up the cabin
using the four hooks
provided on the cabin to
paying attention
to the following items. B
interference between the mechanical link-25

and air-conditioner piping.

[ hooks ~

interference between the floor and i
the slow-return valve shaft.

and the instrument panel.

/ggt the pa11et4‘\\
or wooden block
,also set the
height of the
rear mount
(adjust the
height)

when placing the cabindirectly on the
floor,place wood blocks under the rear
mount of the cabin to prevent the fenders
from deforming.

TK546 PAGE 20
cabin




AL

1210

SSeT

[:r
i

: L
yam BTT 99T

TOE 71

|

|

|
I |

L 20\ Pt
iy s [\\hﬂ?
: OURE 0
, =t = vy |
[ Iy
O
N\
i _ i\

OvCILL



LT SIS 2 [l

4 L

. T S I (EUSXZEXCE) L Th ¢

T 2 » ol £ (FGOIXLZXEZ) A-TAT

i B a WEEXLEXED =t q b

Y pr=im——a ¥ —— v wmn-M5

i _| ! ~4483

[ TEGal —TY 2 - ML

gcol r - MV

o1 g e ——ree e =
Zi=0 B0-00K00S
= g Eid-b
o -+ AT FiH {4 R L ras

Y0z dos
(G0 Xz Exz2) £ -4 (E)

\ FN; e Ll
_R.E'_. LY EuG ._TR.m
CTE]

Y0z 495
(ERGX/EZXTT) £~T4 (D)

ci=0 BA-00bODS ———

@ L..@ " xuu.:-_..

| e e e e ‘.iil.._.v

“ __‘ _'mﬂ.__. .ﬂ
wn e e —— - \

# _ T ‘“nmw W...J,

L - _ .

G P¥ZE JOEESS
-&x ()

D
|
|
!
|

=

2i=0 GO-00vODS

w - (G)

@@@ od

a8 An =
e
==t IN
e W AR
,.(rma&:..f E— oy |
w2 e n S -t ;
[Fkd

ool _
s ¥0Z 495 e A |
.cnnxhwxmw..h-:@u 220 (D) — mrl =

MERE T &

sil urqed 9pSY [, -



